EARAROBEEIERT — 2 N— IBISH —F 2018517190 (£) 23mEHMH4H

m C3=Z ¥5%4mt ‘ [R&] B ‘ (el — | & (B) 14000 TR
[A&4] 1 %:250,00 M ~ 23%&:70,000M” ~ 33#&:3500MH / 43#%:25000 M  57%:20,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 o | FaTI UL i 4 Jslil_%IE— 1:(3_1).8 8-8-5-3 [39.3| — 2 449 gzgg (Em)
R:TUF—Y BT EvLFe— O lex amw
S o b —O— 44 | EREE 1:32.0 2-2-1-1 |40.2| — 1 473 | FERE (EH)
2 6| ¥a>rkE—0QO 56.0 (1 1/2) (46) wilte
LiFHYTTIRE B A e
o . = AZmfER : -3-3- - TR*2 (EA
3 3| 7V—=X27>7J 8T 1'(35'0 AR ’ /2(6)()) EAKIE
w4 x5y B:¥P190-X =Eiztae-]
o s 6 | Bl 1:33.1 4-4-2-2 | 411 — 8 426 | RFIZ=(E (ER)
4189 FT—=T2N— |k 54.0 (3/4) +2) 1RFIERSE
R:vAvz>y BiNLYLY RIE8  SRTHE
N S s Kih—8 :33. —6-7- . — IOE= (i
5lglio X T¥avxusve 1 zm (11313/23) 6-6-7-5 | 41.0 4 (4+829) LosE
L7 TF%wx B:7NnrO0-X =)
S w i 4 | TTRbEH 1:33.3 5-5-6-6 | 41.1| — 5 456 | BAEE (FEf)
6111 A hAXNY == 54.0 (NF) (1) H BBt
RN=—VI54 B:T7595 EUFHT7—L
C = = £ 4 | WHAKEKX 1:33.7 9-9-8-7 |40.8| — 7 473 | 3EiUERD (E@)
] 4| E7TINT 44 b “ 7 s6.0 2 1/2) (3) | WOEFT
R:Z27)—>ke—A— B:YRKETELT > RIS
s s o4 | BAER 1:34.1 6-7-9-8 |41.6| — 9 483 | LEHZER (EH)
8l7/8 TRAR=T454 > 56.0 (2 1/2) 1) NEE AR
RWN—5—297T BTAIWVRTTT— ellikse]
i o9 | EEFR 1:34.4 10-10-10-10{ 41.4 | — 10 | 439 | KAL) (FEH)
955 JXE®FLF 56.0 (11/2) +2) #FHIEH
A= X4 2214 B:iM4Y/32—-X EvilLy RT7—L
; =TE— r - 4| — EAE— ()
wolzl 7| sv7717 - - B © L | Bz
L:ALT747 B:F3A/ECD EalllrEae
® 1—F—@EBIERL
1T=7r= 7,6,3,9,1,(8,10),2,4,5
20—F— 7,6,3,9,1,10,8,2,4,5
Ja=5= 6,9,3,7,2,1,10,4,8,5
40—F— 6,9,2,3,10,1,4,(7,8),5
[ N5
B 2 520M 714K 2-6 230M e E 2-6 660M JEE 2-3-6 780H
B B 2 140M 28 540M B = 2-6 570M EE 2-6-3 7,310
6 120M 3-6 180H B H 2-6 1,870
8 1509

ABICOVWTRDTEEERROODE. TR LIV,



